Copyright 2017 www.fingerscroched.se
English translation by: Willemtje Veen

Erikasjalen / The Erika shawl

Start cluster = ch4, 2dc in space between tr and dc of previous row.
End cluster = (2dc, 1tr) in space between last dc of previous row and 4ch.

Shell

Start :

row 1

row 2

row 3

row 4

row 5

row 6

row 7

row 8

row 9

row 10

row 11

row 12

row 13

= 2dc, 1ch, 2dc

ch 4 and close with slipstitch in first ch st
ch3, (1dc, 4hdc, 1dc, Itr) in ring, turn

ch4, (1dc, 1hdc) in next st, 2hdc in each of the next 4 sts, (1 hdc, 1dc) in next
st, Itr in between dc and 4ch of previous row.

Start cluster, skip 1st, shell in next st, skip 2sts *, repeat between ** to end
of row, shell in next st, skip 1 st, (2dc, 1tr) in space between last dc and tr of
previous row, End cluster, turn, (4 shells)

Start cluster, 1sc in space between second dc and first shell, * 5dc in Ich sp of
shell, Isc in space between next 2 shells * repeat from * to *, End cluster,

turn

Start cluster, chl, 1sc in next st, * ch6, 1sc on center st of next dc cluster *,
1sc on last dc, chl, End cluster, turn

Start cluster, 2x (7dc in next ch sp), 9dc in next ch sp, 2x (7dc in next ch sp),
End cluster, turn

Start cluster, skip 2 sts, shell in next stitch, * skip 3 sts, shell in next st *
repeat from * to *, skip 2 sts, End cluster, turn (=10 shells)

as row 4
as row 5, (11 chain spaces).

Start cluster, chl, sc in next st, * ch 6, sc in ch sp, * repeat to end, sc on last
st, chl, End cluster, turn (12 chain spaces)

as row 10, (13 chain spaces)

Start Cluster,6x (5dc in next ch sp), 9 dc in next ch sp, 6x (5dc in next ch sps,
End cluster, turn

as row 7



row 15

row 16

row 17

row 18

row 19

row 20

row 21

row 22

row 23

row 24

Row 25

row 26

row 27

row 28

row 29

row 30

row 31

row 32

row 33

row 34 + 35
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as row 8
as row 5
as row 10
as row 10

Start cluster, 10x (5dc in next ch sp), 9 dc in next ch sp, 10x (5dc in next ch
sp), End cluster, turn

as row 7
as row 8
as row 5
as row 10
as row 10

crochet dcs in the chain spaces as follows: 3x5, 1x4 , 3x5, 1x4, 3x5, 1x4, 7x5,
1x4,3x5, 1x4, 3x5, 1x4, 3x5.

as row 7
as row 8
as row 5
as row 10
as row 10

1x4, 3x5, 2x4, 3x5, 2x4, 3x5, 2x4, 3x5, 1x4, 1x5
1x4, 3x5, 2x4, 3x5, 2x4, 3x5, 2x4, 3x5, 1x4, EC, turn

as row 7
as row &
as row 5

as row 10
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row 36 Start and end as before but fill the chain spaces as follows, 2x4, 3x5, 3x4, 3x5,
3x4, 3x5, 3x4, 3x5, 2x4, 1x5, 2x4, 3x5, 3x4, 3x5, 3x4, 3x5, 3x4, 3x5, 2x4

Every ch sp row crocheted as row 11 (equal to row 10) increases with a total of ten ch-6.
If you want your shawl bigger proceed as follows, add one 4dc cluster throughout:
row 42 BC, 3x4, 3x5, 4x4, etc.

row 48 BC, 4x4, 3x5, 5x4, etc.



